EAGRAROBREERT — 2 N— ABISH —F

20195£6A308 (HB) 5EIKR5H

12R B vt S A

‘ (%] & ‘ (EmmEl  — | 4 (5) 14000 RE

[A~&£] 17 :2,500,000 § ~ 23 :650,000 37 :350,000 9 ~ 43 :250,000 ™ 5 & :125,000 M

BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF [SIEH | AR | HE | NG FIB) / BE / £ENS
— e LI ARER & 124, -2-1- . — EEE (KR)
1 ; RIEZAIZA 8 ) 1(2_4)6 2-2-1-1 | 37.1 1 (ﬁg) ;m_ﬁﬂ
/R vyy BNV H—I 28 #A
o, B BN 125, -1-1- . — Alllw GkiR)
1 > PIEARZEE A H 6 & 1(245)2 1-1-1-2 | 37.7 2 (5:126) :ﬂ}gg
R:ZEF2—FTUNT4 BiAfoavaivEs Llotie
. = s =i E : -7-6- — =ZHEE (KR)
3155 MLLTS U % 5 o 1.($8).8 4-7-6-4 | 38.3 7 <4+319) %ﬁ%ﬁ 7
Lwy)sgdyr BYv—37-> AXETa—-T7—LA
- 4 5 | |OB— 1:27.2 9-9-9-8 |38.3| — 9 433 | FEFE (KR)
4PN 4| AV FaUNCO— 57.0 (2 1/2) (-1) |EWER ’
x> dNM4A— B:¥xavT7/AHI TSI
= . 47 | BAE 1:27.5 4-3-3-3 [ 39.6| — 5 495 | BRAEBAE (B%FE)
5/8|9 FLoba1—7> 57.0¥ (2) (-10) “M“H’D;
R:Z27)-re—A— B:FLFTI1i—X REE F09R
N - = LA EA 2 —8-7- . — FHET (KiR)
6 6 IZF1HI 4 4 e 15;5 8-8-7-7 | 38.9 3 (4+756) E%_ﬁrrﬁ
R:Y=ZR8—-3I=248— B:HIY7—I NEOKE
N .= EEMBE : -6-5- — fREERD (KIR)
7177 L TUNRSIL 4 8 o 1.(2:@).2 4-6-5-6 | 39.8 6 (5_244) o
LA TATv— B:ALITYT—h HE77—L4
N 8 AR : 44~ = BRA (B%E)
B A= PH 4 11 = 1.(218).4 4-4-4-5 | 40.2 4 <5+269) i
LiA—=JIh7z B:avdrhy A FE
- . iR :28. -5-8— . — 2I1E— (KiR)
9l1!1 LY —~F 4 4 om 1(32/84)5 3-5-8-9 | 39.9 8 (4_111) e
L:T7HIHXLTRX BN—bFTT)—2 #H B
® 1 — @B
15l=3F= 2,3,1,(5,7,8,9),6,4
2ol=5"= 2,3,9,8,1,7,5,6,4
33—F— |(2,3),9.8,7,5,6,1,4
43—F— 3,2,9,5,8,7,6,4,1
[ N
BB 3 1708 | [ 74 K 2-3 120 | | # &= 2-3 140M | | =8 2-3-5 3,840
# B 3 100 3-5 2,040/ B E 2-3 140M EE 3-2-5 9,750
2 110 2-5 1,210 B H 3-2 240
5 410M

ARICOVWTRDTEEERROODE. TR LI,




